{Him 1 2L 1E

NS 2

57 ARG & () ne
=0 (FEA B2EEE G F2ELE
FHE 126. 48 RO, 7 v 7 A
oy h—= (5 - k) 10. 86 © g
’ = e ﬁﬁ R &
FekLEREER T 4. 00 25
mE (B HY) 26. 00
mEE (BHodH0) 12.00
3 =) F = o EORMPEH, Vv 7 A
B (FEE) 9. 80 ﬁ?%ﬁﬁﬁ%ﬁﬁ[‘? 7L afnbk, = iyt 7
P BREE - IRELEfRBR, L6 - (He
1R s (4=R) 12. 00| ¥t « BEH DO SRR, ARG
SO, = - B
TYURT VR BRAR—L 128. 48
FRRE G 2 O0lems - it e, FEOUSIRE
AR () znoﬁ~7/*@ﬁ@%%
EprE (ANRMD) 6.75
g BREE - PRI X bR, BE - BE - fR/FE
e > Ol sy i ik O
MREUR F A L 12, 60| FREE - PR S . 38 - Vi - R 7 7%
SR X EoR X RR, FrAEHELE
AREFIH A L 15.00{ D Fe, = - BN
750 —R—)L 170. 80
INEER 39. 20 gﬁ R & i
. N RORMGEH, Vv T A
$g‘ﬁ¢(mmaé) 31.50 BT T
o [ERE 16 10|BRBE - FEBL HbR, = LU
oE— 140. 00
ERERER, TR
512 5.29
B 628%%%Kﬁ%ﬁ%\ﬁbﬁﬁ%‘ﬁ @g%ﬁ%@\vyﬁz
ML 23. 60
LA RAYZ A L 22.50
JERGRE b A L 19. 40 |PREE - PRI X FRBR, {H4% - Yemv -
SR & HOR SR, AN ENE
HIEAY A RA L 35. 00| DffiFs, =X - {GHINE
A | b L 44. 80
fe 3
g? NI 49. 28
LA RN R C9T|BREE - IR X R N s
Y 156, OT|FRIE - AP FibR, = 3O ORMES, 77 %
R 130. 90 Z KRR xR (T, 77 ARER
VRN 17:16
Féf =l 7,621.00
HuJE 3,171. 00| = ULk ﬁw%%
S 1 [|LL
%?" 5] % 8, 275. 00 ) =
ARG 236. 00
BEH 4, 203. 00




